1) Givenx = t*andy = t°,0 < t < 1 find the following:

. 1 1
a. Tangent line at (I'E) l
b. Area under the curve
c. Surface Area rotated around the x-axis d)(




1) Givenx = t*andy = t°,0 < t < 1 find the following:
11

a. Tangent line at (I'E) C&
b. Area under the curve (j X

c. Surface Area rotated around the x-axis

Sogu T = ] B



1) Givenx = t*andy = t°,0 < t < 1 find the following:

11
a. Tangent line at (I E)

b. Area under the curve § = 1‘3 ) \ / dl - ﬂ At
c. Surface Area rotated around the x-axis N {ﬁ (dl
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Givenr = 2sinf,0 < 8 _< m find the following: dy dr
a. Tangent line @ — — sin 0+ r cos &
b. Area under thecurve E ao ao

c. Arc Length dr dr dr
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Givenr = 2sinf,0 < 68 < mfind the following: b

a. Tangent lineat 8 = % 1
y
b. Area under the curve A= [ —r° df
!

c. Arc Length 9
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Givenr = 2sinf,0 < 68 < mfind the following:
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a. Tangentlineat 8 = |
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3) A crane suspends a 400-Ib steel beam horizontally by support
cables attached from a hook to each end of the beam. The

support cables each make an angle of 60° with the beam. Find

the tension vector in each support cable and the magnitude of
each tension /‘
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4) Find the angle between thevectorsu=1=-3j+2kandv==-2i+j+
4k.
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5) Use the scalar triple product to determine whether the points A(3,
0, 2), B(-1, 2, 5), C(5, 1, -1) and (0, 4, 2) lie in the same plane
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